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1. Suppose we draw circle with the bottom side

of the. triangles in the picture as diameter.

Find out whether the top comer of each


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JsFpCRdq4yWq

triangle is inside the circle, on the circle. or
outside the circle.

'(##VPU_TTT _MAT X _PO1 C02 EO1 001 QO1##)’

° Watch Video Solution

2. For each diagonal of thequadrilateral
shown, check whether the other two corners
are inside, on or outside the circle with that
diagona as diameter.

'(##VPU_TTT _MAT X _PO1 C02 EO1 002 QO1##)’

° Watch Video Solution



https://dl.doubtnut.com/l/_JsFpCRdq4yWq
https://dl.doubtnut.com/l/_mKWCoQK86YDw

3. If circles are drawn with each side of a
triangle of sides 5 centimetres, 12 centimetres
and 13 centimetres, as diametres,then with
respect to each circle, where would be the

third vertex?

o Watch Video Solution

4. In the picture, a circle is drawn with a . line
as diameter and a smaller circle with half the

line as diameter. Prove that any chord of the


https://dl.doubtnut.com/l/_mKWCoQK86YDw
https://dl.doubtnut.com/l/_W7dcrw0clqjS
https://dl.doubtnut.com/l/_BReyqqWcSN32

larger circle through the point where the

circles meet is bisected by the small circle.

o Watch Video Solution

5. Use a calculator to determine uypto two
decimal places, the perimeter and the area of
the circle in the picture.

'(##VPU_TTT_MAT X_PO1 C02 EO1 005 QO1##)'

° Watch Video Solution



https://dl.doubtnut.com/l/_BReyqqWcSN32
https://dl.doubtnut.com/l/_n2kP5mjfzLnA

6. The two circles in the. picture cross each
other at 'A' and 'B'. The points 'P' and 'Q' are
the other ends of the diameters through A.
'(##VPU TTT MAT X PO1 CO2 EO1 006 QOT##)’
i) Prove that 'P, B, Q' lie on a line.

i) Prove that 'P Q' is parallel to the line joiriing
the centres of the circles and is twice as long

as this line.

o Watch Video Solution



https://dl.doubtnut.com/l/_IFBrX1BCfUNX

7. Prove that the two circles drawn on the two
equal sides of an isosceles triangle as
diameters pass through the mid point of the

third side.

o Watch Video Solution

8. a) Prove that all four circles drawn with the
sides of a rhombus as diameters pass through

a common point.

(##HVPU T ATx _ P01502501y05 _ QO1##)


https://dl.doubtnut.com/l/_s936rFNYcHbD
https://dl.doubtnut.com/l/_zKYfKj3y0yq6

b) Prove that this is. Itruerior any quadrilateral
with adjacent sides equal, as in the picture.

'(##VPU_TTT _MAT X _PO1 C02 EO1 008 QO2##)'

o Watch Video Solution

9. A triangle is drawn by joining a point on a
semicircle to the end of the diameter. Then
semicircles are drawn with the other two sides
as diameter.

'(##VPU TTT MAT X PO1 CO2 EO1 009 QOT##)’

Prove that the sum of the areas of the blue


https://dl.doubtnut.com/l/_zKYfKj3y0yq6
https://dl.doubtnut.com/l/_HqiPiVQQ11qL

and red crescents in the second picture is

equai to the area of the triangle.

° Watch Video Solution

10. In the figure circles with centres 'A' and 'B'
intersect at 'Q' and 'S. If 'P Q' and 'Q R' bé the
diameters, prove that the points 'P_1,S' and 'R’
arelie on the same line.

'(##VPU_TTT_MAT X_PO1.CO2 E02 002 _QO1##)'

° Watch Video Solution



https://dl.doubtnut.com/l/_HqiPiVQQ11qL
https://dl.doubtnut.com/l/_WPDhsddrWpvu
https://dl.doubtnut.com/l/_kvgbu0CYIrIN

11. A circle is drawn with AB as diameter. Find
the position of the points 'C, D, E' related to

the circle

o View Text Solution

12.In the figure 'triangle ABC' is a right angle.
'(##VPU TTT MAT X PO1 CO2 E02 004 QO1##)
a) If a circle is drawn with AC as diameter find
theposition of 'B'

b) if the circle is drawn with 'BC' as diameter

find the position of 'A.


https://dl.doubtnut.com/l/_kvgbu0CYIrIN
https://dl.doubtnut.com/l/_OFDhKziET7qs

° Watch Video Solution

13. In quadrilateral 'ABCD, AB=3 c¢cm, BC' '=4 cm,
AC=5 cm,/ A=120"circ' and '/ C=70"circ .' If we
draw the circle with 'AC' as diameter which of
the four vertices of ABC would be inside the
circle? Which of them would be outside the
circle? What about the circle with BD as

diameter?

° Watch Video Solution



https://dl.doubtnut.com/l/_OFDhKziET7qs
https://dl.doubtnut.com/l/_1pSDceiGiSSd
https://dl.doubtnut.com/l/_YUw2X6RegsY0

14. In all the pictures given below, 'O’ is the
centre of the circle and 'A, B, C' are points on.
it. Calculate ail angles of 'Delta ABC' and
'triangle OBC' in each.

'(##VPU_TTT_MAT X_PO1 CO2 EO3 001 QO1##)’

o Watch Video Solution

15. The numbers 14, 8 on a clock’s face are

joined to make a triangle.


https://dl.doubtnut.com/l/_YUw2X6RegsY0
https://dl.doubtnut.com/l/_nPCbLSOf1viv

Calculate the angles of this triangle. How
many equilateral triangles can we make by

joining numbers on the clock’s face?

o Watch Video Solution



https://dl.doubtnut.com/l/_nPCbLSOf1viv

16. In each problem below, draw a circle and a
chord to divide it into two parts such that the
parts are as speciffied,

i) All angles on one part '80"circ'.

ii) All angles on orie part '110"circ'.

iii) Al angles on one part half of all arigles on
the other.

iv) All angles on one part, one and a halfxx the

angles on the other.

o Watch Video Solution



https://dl.doubtnut.com/l/_pJa2onplmWDI
https://dl.doubtnut.com/l/_XsEun4yuJrwh

17. A rod bent:into an angle is placed with its
comer at the centre of a circle and it is found
that '1/(10)' of the circle lies with in it. If it is
placed with. its corner on another circle, what
part of the circle. would be within it?

'(##VPU_TTT_MAT X _PO1 CO2 EO3 004 QOT##)

o Watch Video Solution

18. In, the picture, O is the centre of the circle

and 'A, B, C', are points on it.


https://dl.doubtnut.com/l/_XsEun4yuJrwh
https://dl.doubtnut.com/l/_OsUPH6z4vdyS

'(##VPU_TTT _MAT X _PO1 C02 EO3 005 QO1##)’

Prove that'/ O AC+/ AB C=90"circ'

° Watch Video Solution

19. Draw a triangle of circumradius 3
centimetres and two of the angles '32

(1/2)"circ, 37 (1/2)"circ'

° Watch Video Solution



https://dl.doubtnut.com/l/_OsUPH6z4vdyS
https://dl.doubtnut.com/l/_dpbsoXXmmmBF

20. In the picture, 'A B' and 'C D' are mutually
perpendicular chords of the circle. Prove that
the arcs APC and BQD joined together would
make half the circle.

'(##VPU_TTT_MAT X _PO1.CO2 E03 007 QO1##)'

o Watch Video Solution

21. In the picture, 'A, B, C, D' are points on a
circle centred at '0.' The lines 'A C' and BD are,

extended to meet at 'P'. The line'AD' and 'B C'


https://dl.doubtnut.com/l/_jh2a0ygmrvHf
https://dl.doubtnut.com/l/_nMVDwhqf4pg3

intersect at 'Q". Prove that the angle which the
small arc AB makes.at O is the sum of the
angles it makes at 'P'and 'Q".

'(##VPU_TTT_MAT X_PO1 .CO2 E03 008 QO1##)'

° Watch Video Solution

22. In the figure '/ ABC=65"circ', what is
central angle of arc’AB C ?"

'(##VPU_TTT_MAT X_PO1 CO2 EO4 001 QO1##)

° Watch Video Solution



https://dl.doubtnut.com/l/_nMVDwhqf4pg3
https://dl.doubtnut.com/l/_DltqEJsR5lo7
https://dl.doubtnut.com/l/_FrRmmvl3BK8R

23.In the figure 'O’ is the centre of the circle. If
'/ POR=110"circ', what is '/ PSR ?'

'(##VPU_TTT_MAT X_PO1 CO2 EO4 002 QO1##)

° Watch Video Solution

24.1n the figuré given below 'O’ is the centre of
the circle. If '/ A=15"circ' '/ B=25"circ', what is
'/ AOB'"?

'(##VPU_TTT_MAT X _PO1 CO2 EO4 003 QOT##)

o Watch Video Solution



https://dl.doubtnut.com/l/_FrRmmvl3BK8R
https://dl.doubtnut.com/l/_i1unSdsskS1F

25. In the figure, O is the centre of the circle.
Find'/_ACB'.

'(##VPU_TTT_MAT X _PO1 CO2 EO4 004 QO1##)'

o Watch Video Solution

26. In the figure 'A B' is the diameter of the
circle. Find the other angles.

'(##VPU_TTT_MAT X_PO1 CO2 EO4 005 QO1##)

o Watch Video Solution



https://dl.doubtnut.com/l/_ErN9UjmMzYqm
https://dl.doubtnut.com/l/_U9LzSjRtzffT
https://dl.doubtnut.com/l/_vIWTySBbFGPW

27. In the figure given below, find the area of
the circle.

'(##VPU_TTT_MAT X_PO1 CO2 EO4 006 QO1##)

o Watch Video Solution

28. If the central angles of a circle is °, what
is angle made by that arc in a point on the

alternate arc?

o Watch Video Solution



https://dl.doubtnut.com/l/_vIWTySBbFGPW
https://dl.doubtnut.com/l/_TTFCO4d34zml
https://dl.doubtnut.com/l/_q33gg2GNiJLq

29. A B' and 'A C' are two chords of the circle. If
central angle of arc 'APB' is '90"circ' and arc
AQC.is '"150"circ', find '/ BAC.

'(##VPU_TTT_MAT X _PO1 CO2 EO4 008 QOT##)

o Watch Video Solution

30. In the figure, 'O' is the centre of the circle 'A
B' and 'B C' are chords also 'A B=B C' and '/_
OBA=50"circ.'Find '/ AOB'and '/ OAC.

'(##VPU_TTT_MAT X_PO1 CO2 EO4 009 QO1##)

o Watch Video Solution



https://dl.doubtnut.com/l/_q33gg2GNiJLq
https://dl.doubtnut.com/l/_OfY0LRD8fwvY

31. Chords 'AB' and 'CD' of a circle meet at a
point P inside the circle: If the lines AC and DB
are extended tomeet at point Q outside the
circle.

If'/ A CD=55"circ,/ AQ D=30"circ', find

'/ CAB,/ CDB,/ ABQ'and'/ APC':

'(##VPU_TTT_MAT X_PO1 CO2 EO4 010 QO1##)

o Watch Video Solution



https://dl.doubtnut.com/l/_OfY0LRD8fwvY
https://dl.doubtnut.com/l/_GzJr6KTK7ACv

32. Calculate the angles of the quadrilateral in
the picture and also the angles between their
diagonals:

'(##VPU_TTT _MAT X _PO1 C02 EO5 001 QO1##)’

o Watch Video Solution

33. Prove that any outer. angle of a cyclic
quadrilateral is
equal to the interior angle, at the opposite

vertex.

| & I


https://dl.doubtnut.com/l/_OGaiO0ynRind
https://dl.doubtnut.com/l/_qYO8sze3uhLN

| ¥ Watch Video Solution |

34. Prove that a parallelogram which is not a

rectangle is not cyclic.

o Watch Video Solution

35. Prove that any non-isosceles trapezium is

not cyclic.

o Watch Video Solution



https://dl.doubtnut.com/l/_qYO8sze3uhLN
https://dl.doubtnut.com/l/_bAQc35KcW63t
https://dl.doubtnut.com/l/_K4iM9EWJr0Dy
https://dl.doubtnut.com/l/_e8G5PtsFlQlT

36. In the picture, bisectors of adjacent arigles

of the quadrilateral ABCD intersect at 'P,Q, R, S

(##VPU_TTT_MAT X_PO1 CO2 E05 005 QOT#i#)

Prove that PQRS is a cyclic quadrilateral.

o Watch Video Solution

37. i) The two circles below intersect at 'P, Q'
and lines through thiese points meet the.
circles at 'A, B, C, D'. The lines 'A C' and 'B D' are

not parallel. Prove that if 'A C' and BD are. of


https://dl.doubtnut.com/l/_e8G5PtsFlQlT
https://dl.doubtnut.com/l/_Jt1AoKIfF0mF

equal length, then 'ABCD' is a cyclic
quadrilateral.

'(##VPU TTT MAT X PO1 CO2 EO5 006 QOT##)’
ii). In the picture, the circles on the left and
right intersect the middle circle at 'P, Q, R, S,
the lines joining them meet the left and right
circles at 'A, 'B, C, D'. Prove that AB C D' is a
cyclic quadrilateral.

'(##VPU_TTT_MAT X _PO1 C02 EO5 006 QO2##)'

o Watch Video Solution



https://dl.doubtnut.com/l/_Jt1AoKIfF0mF

38. Inthe picture, points 'P, Q s R' are marked
on the sides 'BC, CA, AB' of '/ \ ABC' and the
circumcircles of /\ A Q R and '/\ B R P' are
drawn. M, is a point where these circles
intersect. Prove that the circumcircle of '/ \'
CPQ also passes through 'M' is a point where
these circless intersect.

(##VPU_TTT_MAT X_PO1 C02 E05 007 QOT#i#)

o Watch Video Solution



https://dl.doubtnut.com/l/_lof4iW4dyp6q

39. O' is the centre of the circle and 'AB' is a
chord. 'A C' is the bisector of '/ O A B. '/
OAB=56"circ'

a) Prove that 'O C' and 'AB' are parallel.

b) Find'/ ABC'and'/ OBE.

(##VPU_TTT_MAT X_PO1 CO2 E06 001 QOT##)'

o Watch Video Solution

40. In cyciic quadrilateral PQRS, QR is extended

to X . If '/ SRX=100"circ' and 'RPS=50"circ,


https://dl.doubtnut.com/l/_bdSqZ3fUm6OX
https://dl.doubtnut.com/l/_rj0XRolRpU0P

then what is the measure of RPQ?

'(##VPU_TTT_MAT X _PO1.CO2 E06 002 QO1##)'

° Watch Video Solution

41. Two circles intersect at 'A' and 'B'. The lines
KAL, NBM are parallel.
Prove that KLMN is a parallelogram.

'(##VPU_TTT _MAT X _PO1 C02 EO6 003 QO14##)’

o Watch Video Solution



https://dl.doubtnut.com/l/_rj0XRolRpU0P
https://dl.doubtnut.com/l/_EFfPHxkz25zK

42. ABCD' is a cyclic quadrilateral. If LA =
x + 157,
/B=2—-10",ZC = x — 25°, find each

angles.

o Watch Video Solution

43. In the figure 'AB'. is the diameter and CD is
parallel to the diameter.
'(##VPU TTT MAT X PO1 CO2 E06 005 QO1##)'

'A B=8 cm, B D=2 cm', find 'C D'

| & I


https://dl.doubtnut.com/l/_KPUIoWJvL2Nz
https://dl.doubtnut.com/l/_diaUHxYhVYmR

| ¥ Watch Video Solution |

44. In the picture, chords AB.and CD of the
circle are extended to meet at 'P'.
'(##VPU_TTT_MAT X_PO1 C02 EO7 001 QO1##)’
i) Prove that the angles of 'triangle APC' and
'Delta PBD', formed by joining 'AC' and 'BD’, are
the same.

ii) Prove that 'PA xx PB=PC xx PD'

iii) Prove that if 'P B=P D', then 'AB D C' is an

isosceles trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_diaUHxYhVYmR
https://dl.doubtnut.com/l/_69LbJEE22FRV

45. Draw a rectangle of width 5 centimetres
and height 3 centimetres.

i) Draw a rectangle of the same area. with
width-6 centimetres:

i) Drawa square of the same area.

o Watch Video Solution

46. Draw a square of area

15¢cm?

l o Watch Video Solution


https://dl.doubtnut.com/l/_69LbJEE22FRV
https://dl.doubtnut.com/l/_oq1duj1Hi3ic
https://dl.doubtnut.com/l/_q5vb9uP2F5jv

47.Draw a square of area 5 square centimetres
in three different ways.

(Remember Pythagoras theorem)

o Watch Video Solution

48. In this picture, a line through the centre of
a circle cuts a chord into two parts:
What is the radius of the circle?

'(##VPU_TTT_MAT X_PO1.CO2 EO7 005 QO1##)'



https://dl.doubtnut.com/l/_q5vb9uP2F5jv
https://dl.doubtnut.com/l/_injxSOogMCVO
https://dl.doubtnut.com/l/_QLpMrFj9ubuC

o Watch Video Solution

49. In the picture, a line through the centre of
a circle meets a chord of the circle:

What are the lengths of the two pieces of the
chord?

'(##VPU_TTT_MAT X_PO1.CO2 EO7 006 QO1##)'

o Watch Video Solution



https://dl.doubtnut.com/l/_QLpMrFj9ubuC
https://dl.doubtnut.com/l/_3NZic28m231c

50. P is an external point of a circle. A line
drawn from 'E' intersects the circle at 'C' and 'D
. P C=9, PA '=6' fand 'O' is the centre of the
circle. If the shortest distance from 'P' to the
circle is equal to. the radius of the circle.

a) What is the radius of the circle?

b) Compute CD.

o Watch Video Solution



https://dl.doubtnut.com/l/_z15E1Jz5MNtV

51.In the figure 'c P R=4 cm, Q R=5 m', 'PS=3 cm
. What is the length of TS?

'(##VPU_TTT_MAT X_PO1 CO2 EO8 002 _QO1##)'

o Watch Video Solution

52. In the figure, radius of the circle with

centre O is '6 cm, PA=4 cm' and 'P B=5 cm .
What is the lenath of OP?

'(##VPU_TTT_MAT X_PO1 CO2 EO8 003 QOT##)

o Watch Video Solution



https://dl.doubtnut.com/l/_rZGTaW08T3Mp
https://dl.doubtnut.com/l/_ZTJjfAVH7Z9b

53. In the figure 'P Q perp S R, also 'P R=5 cm,
'TR=4 cm, ST=9 cm .! What is 'TQ ?'

(##VPU_TTT_MAT X _PO1 CO2 E08 004 QO1##)'

o Watch Video Solution

54. In the figure, two circles intersect at 'Q' and
lR .I
'(##VPU_TTT MAT X _PO1 CO2 EO8 005 QO14##)’

Prove that PA 'xx PB=P C xx P D'.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTJjfAVH7Z9b
https://dl.doubtnut.com/l/_3Ihrr6Y7Qyak
https://dl.doubtnut.com/l/_wSbAhKN8dH2t

55. In the figure, 'O’ is the centre of the circle.
CD-is a chord which is not perpendicular to
the diameter 'A B'. Also 'P A=9 cm, PB=4 cm'’
'(##VPU TTT_MAT X_PO1 CO2 EO8 006 QO1##)’
a) What is PC 'xx PD' ?

b) Prove that the length of 'P C' and PD. cannot

be a natural nimber at a time.

o Watch Video Solution



https://dl.doubtnut.com/l/_wSbAhKN8dH2t
https://dl.doubtnut.com/l/_zhR3Z7pxPne9

56. Draw a rectangle of sides 7 centimetres
and 5 centimetres. Draw a square of same

area.

o Watch Video Solution

57. In the picture below, 'A B C D' is a square
with vertices on a circle and XYZ is such an
equilateral triangle. 'P' and 'Q' are points on
the circles:

'(##VPU_TTT_MAT X _PO1 CO2 E0O8 008 QO1##)'


https://dl.doubtnut.com/l/_tdlUPRHm0xuh
https://dl.doubtnut.com/l/_1XSYAJ5IFBWi

i) How muchis'/ APB?

i) How much is '/ X QZ'?

° Watch Video Solution

58.In the figure, 'A B' is a diameter of the circle
and the chord 'C D' is perpendicular to 'AB .' If
'C D=4 sqrt5' centimetres and PA = 2
centimetres, find 'A B'.

'(##VPU_TTT_MAT X_PO1 C02 E09 001 QO1##)’

° Watch Video Solution



https://dl.doubtnut.com/l/_1XSYAJ5IFBWi
https://dl.doubtnut.com/l/_VAWw2XSRe4We
https://dl.doubtnut.com/l/_ZnV4GTHgiEHL

59. Examine whether the two quadrilaterals
obtained by joining the vertices 'F' and C of a
regular hexagon ABCDEF are. cyclic or not?

Why?

o Watch Video Solution

60. In the figure, 'P, Q, R' and 'S' are points on
the circle with centre at O.

(##VPU TTT MAT X PO1 CO2 E09 003 QO1##)’
If '/ ROS=80"circ’ and '/ QSR=30"circ,

compute the following angles.


https://dl.doubtnut.com/l/_ZnV4GTHgiEHL
https://dl.doubtnut.com/l/_NdlFZz0iE6v7

° Watch Video Solution

61. In the figure, 'C' is the centre of the circle
and 'AB', its diameter. triangle PDC is an
isosceles triangle.

(##VPU TTT MAT X PO1 CO2 E09 004 QO1##)

Prove that 'AB”2=4 PD xx DE'.

| e |


https://dl.doubtnut.com/l/_NdlFZz0iE6v7
https://dl.doubtnut.com/l/_fQ93lpDbEXaf

& Wwatch Video Solution I

62. In the figure, quadrilateral ABCD is cyclic.

'/ GBC=80"circ'

'/ A=50"circ’

'(##VPU TTT MAT X PO1 CO2 E09 005 QO1##)'
i) Compute the other. angles of the
quadrilateral. Find also'/ ADL.

ii) Prove that the sum of the exterior angles at
opposite vertices of a cyclic quadrilateral is

'"180"circ .

° Watch Video Solution



https://dl.doubtnut.com/l/_fQ93lpDbEXaf
https://dl.doubtnut.com/l/_qtNtV6STOgph

63. Two circles are intersecting at 'Q' and 'C' as
shown in the figure. 'R B' is parallel to PA. Prove
that the points ‘A, C r B' ine on the same liné.

'(##VPU_TTT _MAT X _PO1 CO2 EQ9 006 QO1##)

° Watch Video Solution

64. Prove that the quadrilateral obtained by
joining any two alternate vertices of a regular

pentagon is cyclic.

| €8


https://dl.doubtnut.com/l/_qtNtV6STOgph
https://dl.doubtnut.com/l/_ntXm2sUo9iih
https://dl.doubtnut.com/l/_uWiLUf5pljso

| ¥ Watch Video Solution J

65. Construct a square of area 12 square
centimetres.

'(##VPU_TTT _MAT X _PO1 C02 EO9 008 QO14##)’

° Watch Video Solution

66. In the figure 'A B=A D' '//_ A=60"circ’ '/_
C=150"circ' Show that the circle, centred at ‘A
and radius ‘A B'.

'(##VPU_TTT_MAT X_PO1 C02 E10 001 QOT1##)’


https://dl.doubtnut.com/l/_uWiLUf5pljso
https://dl.doubtnut.com/l/_Wx7dhx8cQbTl
https://dl.doubtnut.com/l/_60w6s4G4oUsd

a) Passes through the point D.

b) Passes through the point 'C'.

° Watch Video Solution

67. Draw an equilateral triangle of sides 6

centimetres. Draw a square of the same area.

o Watch Video Solution

68. In triangle ABC, /A = 30°, /B = 60°.

If we draw a circle with AB as diameter, say


https://dl.doubtnut.com/l/_60w6s4G4oUsd
https://dl.doubtnut.com/l/_T6joSLyV2p5x
https://dl.doubtnut.com/l/_gGTXDE5U8Fy3

whether it passes through C? Why?

o Watch Video Solution

69. In the figure, 'A B' is a diameter. 'P C' is
perpendicular to 'AB . P C=6 cm, P B=" '3 cm.
Find the radius of the semi circle.

'(##VPU_TTT_MAT X_PO1.C02 E11 002 _QO1##)'

° Watch Video Solution



https://dl.doubtnut.com/l/_gGTXDE5U8Fy3
https://dl.doubtnut.com/l/_n07ZjfyQ0dgh

70. In the figure,'/ ADC=/_ BCD'
Prove that'/ ABC=/ BCE.

'(##VPU_TTT_MAT X_PO1 C02 E11 003 QO1##)'

o Watch Video Solution

71. In the figure, 'O’ is the centre of the circle.
Central / of arc AXB is '60"circ' arc CYD is
'80"circ'. Then find all the angles of 'triangle A
PD.

'(##VPU_TTT_MAT X_PO1 CO2 E11 004 QOT##)’

| I


https://dl.doubtnut.com/l/_P4Md422p6aFx
https://dl.doubtnut.com/l/_4BFqHDnSGurs

| ¥ Watch Video Solution |

72.1n the figure, 'O' is the centre of the circle. If
'/ D=80"circ, find the following.
meausrements.
'(##VPU_TTT_MAT X _PO1.C02 E11 005 QO1##)'
a)'/ C

b)'/ ABC'

c) '/ BAC

d)'/'F

° Watch Video Solution



https://dl.doubtnut.com/l/_4BFqHDnSGurs
https://dl.doubtnut.com/l/_ZqNDg5TIQRYB
https://dl.doubtnut.com/l/_kQgCNeijZ6UI

73. In the figure, 'O’ is the centre. 'P Q' and
'RS',are perpendicular diameters of the circle.
'(##VPU_TTT _MAT X _PO1 CO2 E11 006 QOT##)’
Radius is, '5 cm .! Chord. RE cuts 'P Q' at M.

'RE=8 cm'. Then find the lengths of SE, RM, ME.

o Watch Video Solution

74.In the circle shown, the chords 'A Q' and BP
passes through C.
a) The central / of arc 'A X B'is '100"circ’

Calculate '/ Q'. The central angle of arc PYQ is


https://dl.doubtnut.com/l/_kQgCNeijZ6UI
https://dl.doubtnut.com/l/_jKqLLZYbVMpW

'60"circ .' Find all angles of the triangle 'B Q C'.
'(##VPU_TTT_MAT X_PO1 C02 E12 001 QO1##)’
b) In the picture, prove that '/ APC'is half the
sum of the central / of arc AXC and arc BYD:

'(##VPU_TTT MAT X_PO1 C02 E12 001 QO2##)

o Watch Video Solution

75. Draw a circle with radius 4 centimetres.

Draw a triangle with two of its angles '65"circ'

and '78”circ' and all vertices on the circle.

'(##VPU_TTT_MAT X_PO1 C02 E12 002 QO1##)'

| |


https://dl.doubtnut.com/l/_jKqLLZYbVMpW
https://dl.doubtnut.com/l/_Ctb4F9IMuK33

& Wwatch Video Solution I

76. In the figure, 'O' is the centre of the circle.
and 'A, B, C, D' are points on it. '/ E A B=
'120"circ, / EPD=100"circ .' Write the measures

of '/ EDB,/ ECB'and'/ D BC.

° Watch Video Solution

77. Draw a rectangle of length 4 centimetres,
breadth 3 centimetres and square. of the same

area.


https://dl.doubtnut.com/l/_Ctb4F9IMuK33
https://dl.doubtnut.com/l/_2agxntmWzuN1
https://dl.doubtnut.com/l/_ToFxM5u3Pkta

° Watch Video Solution

78. In the figure, the chord 'B D' is
perpendicular to the diameter 'A C'. Find the
measures of the following angles.

(##VPU TTT MAT X PO1 C02 E13 003 QO1##)'
a)'/ BAC

b)'/ BCD'

'/ ADC

(d)'/ cbm

e)'/ BAP'

l ° Watch Video Solution


https://dl.doubtnut.com/l/_ToFxM5u3Pkta
https://dl.doubtnut.com/l/_W7YNhauRhozT

79. In the figure, 'O' is the centre of the circle.
'/ A=60"circ’

'(##VPU_TTT_MAT X_PO1 C02 E14_001 QO1##)’

° Watch Video Solution

80. Draw a circle of radius '3.5' centimetres.

Draw a triangle of angles '50"circ, 60"circ,


https://dl.doubtnut.com/l/_W7YNhauRhozT
https://dl.doubtnut.com/l/_o2s3WqsMhyT2
https://dl.doubtnut.com/l/_sfmWwcVqvCka

70%circ’ with its vertices as points on the

circle.

° Watch Video Solution

81. In the figure, 'C, D' are points on the circle
AD is a diameter of the circle.'/ C=30"circ, A
B=4' centimetres.

'(##VPU_TTT _MAT X _PO1 C02 E14 003 QO1##)’

c) What is the length of the diameter?

| e |


https://dl.doubtnut.com/l/_sfmWwcVqvCka
https://dl.doubtnut.com/l/_ItsWogLm38MH

& Watch Video Solution I

82. In the figure chords AB and CD intersect at
P. PA = 8 centimetres, 'P B=6' centimetres, 'P
C=4' centimetres, 'B C=4' centimetres.

'(##VPU TTT MAT X PO1 CO2 E14 004 QO1##)'
a) Which angle is equalto'/ A'?

b) Write one more pair of equal angles.

c) Find the length of 'PD'.

d) What is the length of AD?

° Watch Video Solution



https://dl.doubtnut.com/l/_ItsWogLm38MH
https://dl.doubtnut.com/l/_LUL5PPlmQMhc
https://dl.doubtnut.com/l/_NtxlxhpgANxM

83.In the figure '/ P=90"circ . Sides of triangle
APC are extended to 'B' and 'D'.

'(##VPU TTT MAT X PO1 CO2 E14 005 QOT##)’
a) If a circle is drawn with 'A C' as its diameter,
where will be position of P with respect to that
circle?

b) What about the position of 'P, if the circle is
drawn with AD as diameter?

c) Prove that, the circles drawn with the sides
of a quadrilateral with perpendicular

diagonals, will meet-at a common point.

o Watch Video Solution



https://dl.doubtnut.com/l/_NtxlxhpgANxM

84. In the figure 'O’ is the centre of the circle.
'/ A O C=80"circ

a) What is the measure of '/ ABC?'

b) What is the measure of '/ ' ADC?

'(##VPU_TTT_MAT X_PO1 C02 E15 001 QO1##)'

o Watch Video Solution

85. A B' is the diameter of the circle. 'D' is a

point on the circle.'D' is a point on the circle.


https://dl.doubtnut.com/l/_NtxlxhpgANxM
https://dl.doubtnut.com/l/_6FktxoAPiGNK
https://dl.doubtnut.com/l/_P4j3dW8BBTyn

'/ ACB+/ ADB+/ AEB=270"circ', Measure of
one among ACB, ADB, AEB is '110"circ'. Write
the measure of '/ A D B','/ ACB' and '/ AEB

M(##VPU_TTT_MAT X _PO1 CO2 E15 002 QOT##)’

o Watch Video Solution

86. In the figure 'O' is centre and '/
OAC=40"circ''/ OCB=30"circ'
'(##VPU_TTT_MAT X _PO1 CO2 E16 001 QOT1##)’

a) Whatis'/ OCA?


https://dl.doubtnut.com/l/_P4j3dW8BBTyn
https://dl.doubtnut.com/l/_JyLqmFTztn85

b) What is '/ AOC' ?

c) Find the measures of 3 angles of '/ \ ABC..

o Watch Video Solution

87.1n the figure, 'O' is centre of the circle and if
'/ OCA=x'
'(##VPU_TTT_MAT X_PO1 C02 E16 002 QO1##)'
a) Whatis'/ OAC?

b) Prove that'/ O C A+/ A B C=90"circ'.

c) Prove thait'/ AD C-/ O C A=90"circ'.

o Watch Video Solution



https://dl.doubtnut.com/l/_JyLqmFTztn85
https://dl.doubtnut.com/l/_IEwJGbgNDv0y

88. In 'triangle A B C', circum radius is 6
centimetres, '/ A=70"circ, / B=80"circ .

Construct the triangle.

o Watch Video Solution

89. Draw the rectangle of length '5 cm' and
breadth '3 cm'.

Draw the square of same area..

o Watch Video Solution



https://dl.doubtnut.com/l/_IEwJGbgNDv0y
https://dl.doubtnut.com/l/_SPpW3WWrR67N
https://dl.doubtnut.com/l/_5ZFUidxCUFFM




